
                   Installation Instructions
Rear Fender Tabs Cover R 1200 GS

November 2003

Package contains:
1 x Rear Fender Tabs Cover
2 x Dome head hex screw M6x14
1 x Dome head hex screw M6x08
2 x Washer M6

TOURING   RALLYE   RACING    TECHNOLOGY

09-044-0230-1

These instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

Remove the rear plastic fender and the brake caliper.  Remove the spacer sleeve 
and attach the Touratech cover as shown on the photo with the M6x14 screws and 
washers M6.  
Reinstall the brake caliper and tighten the bolts to 24Nm and use lock tite type 
compound on the bolts.  
The screw M6x08 is used to cover the extra hole left that is pointed out with the 
arrow on the photo.


